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S 0 1 2 3 4 5
25 15.000(5.010(5.020|5.030(5.040(5.050
26 |5.099|5.109(5.119|5.128(5.138|5.148
27 15.196|5.206|5.215|5.225(5.235|5.244
28 15.29215.301(5.310(5.320(5.329|5.339
29 |5.385|5.894|5.404|5.413|5.422|5.431
30 |5.477|5.486|5.495|5.505(5.514|5.523
31 |5.568(5.577|5.586(5.595(|5.604 (5.612
32 |15.657|5.666|5.675(5.683(5.692|5.701
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13. 6x>+ax+15= (2x+b)(cx+5) °l1 a,b,c =FTE W, a+b+c
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6x2 + ax + 15 = 2cx? + (10 + be)x + 5b
2c =6, 5b =15, 10+ bc = a
c=3,b=3,a=19

L a+b+c=25
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da +4b =48 ©|E2 a4+ b =12

T a?2+b02=174

(a+ b)? - 2ab = a* + b*

74 = 144 — 2ab

ab = 35

(a=b)2 = (a+ b)? - dab = 144 — 140 = 4
a-b>0,a-b=2
a’=b?>=(a+b)(a-b)=12%x2=24(cm?)
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